[bookmark: _GoBack][image: ]




[image: ]





[image: ]
image1.png
Atoms are so small that they are measured in nanometres (nm)
1 nanometre = 0.000 000 001 metre so there are 1000 000 000 nm in 1 m.

To convert metres to nanometres multiply by 1000 000 000
To convert nanometres to metres divide by 1000 000 000

The diameter of an atom ranges from about 0.025 to 0.5 nanometres (nm).

How many hydrogen atoms, which measure 0.1 nm across, willfit across a single caesium
atom with a diameter of 0.6 nm?

The diameter of a copper atom is approximately 0.3 nm. How many copper atoms could be
lined up across a pin head measuring 1.5 mm (1 500 000 nm)?




